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! A positive electric charge is:

(a)  Repels other positive charge (a)
(b)  Attract other positive charge (b)
(c)  Attract a neutral charge (c)
(d)  Repels a neutral another object (d)

2 The electroscope is an instrument which is used
for.

(a)  Detecting charge (a)
(b)  To detect presence of current (b)
(c)  To detect radiations (c)
(d)  None of these (d)

3 If the medium between the two charges is air,
then the value of "K" will be:

(@) 9x10°Nm?*C?  (b) 9x108Nm*C? (2)
(©) 9x10°Nm?*C? (d) 9x10®Nm*C? (o)
4 Two small charged shperes are separated by

2mm, which of the following would produce the
greatest attractive force.

(a) +4qult+lq (b)  -4q.l-1q (@)

(c) -2q»+2q (d +2q./+2g (©)
> The electric lines of forces were intreduced by:

(a) Newton (b) _Einst€in (a)

(¢) Coluomb (dy,. (Faraday (©)
6 Capacitors are used to store:

(a)  Current (b)  Charge (a)

(c) resistance (d)  All these (©)

7 Each bolt of lightenining contain the energy.

(a) 2000 milion Joule energy (a)
(b) 3000 milion Joule energy (b)
(c) 1000 milion Joule energy (c)
(d) 4000 milion Joule energy (d)
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